Addition Facts (A)

Find each sum.

24+3= 1+3= 346= 443 =
3+9= 3+8= 543= 3+3=
347 = 348 = 347 = 943 =
243 = 346= 345= 4+3=
1+3= 343 = 8+3 = 543 =
443 = 34+6= 243 = 1+3=
347 = 343 = 943 = 443 =
343 = 8+3 = 543= 34+1=
243 = 349 = 643 = 743 =
6+3= 342 = 443 = 34+1=
743 = 943 = 345= 843 =
343 = 3+8= 1+3= 5+3=
349 = 347 = 643 = 243 =
343 = 34+4= 1+3= 5+3=
743 = 349 = 243 = 344 =
346= 343 = 348= 342=
643 = 345 = 4+3= 743 =
3+9= 348 = 34+3= 34+1=
348 = 643 = 344 = 1+3=
349 = 743 = 343 = 243 =
543 = 345= 343 = 443 =
643 = 243 = 341= 7+3=
943 = 8+3 = 343 = 543 =
8+3 = 4+3= 6+3= 342 =
341= 349 = 743 = 347 =
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Addition Facts (A) Answers

2+3-=5
34+9-12
34+7-10
2+43-5
14+3=4
443-7
34+7-10
3+3-6
2+3-5
6+3=9
743=10
3+3-6
34+9-12
3+3-6
743=10
3+6=9
6-+3=9
34+9-12
34+8-11
34+9-12
5+3-8
6-+3=9
9+3-12
8+3-11
34+1=4

143=4
34+8=11
34+8-11
3+6=9
3+3-6
3+6=9
3+3-6
8+3-11
34+9-12
3+2-5
9+3-12
34+8=11
34+7-10
3+4-7
34+9-12
3+3-6
3+5-8
34+8=11
6+3=9
74+3=10
3+5-8
2+43-5
8+3-11
443=7
34+9-12

Find each sum.

34+6=9
5+3-8
3+7=10
3+5-8
8+3=11
2+3-5
94+3-12
5+3-8
6+3=9
443-7
34+5-8
14+3=-4
6+3=9
143=-4
2+4+3-5
3+8-11
443=7
3+3=6
3+4-7
3+3=6
3+3-6
341-4
3+3-6
6+3=9
7+3=10

443=7
3+3=6
9+4+3-12
443-7
5+3-8
14+3=-4
443=7
34+1-4
7+3=10
34+1-4
8+3=11
5+3-8
24+3=5
5+3-8
34+4-7
34+2-5
7+3=10
34+1-4
14+3=4
2+43-5
443=7
7+3-10
5+3-8
3+2-5
3+7=10
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Addition Facts (B)

Find each sum.

3+1= 3+6= 3+2= 8+3=
943 = 443 = 343 = 543=
T+3 = 3+9= 8+3 = 3+2=
543= 3+3= 34+6= 443 =
1+3= 3+3= 347 = 3+4=
3+9= 1+3= 8+3 = 2+3=
543 = 643 = 443 = 243 =
3+9= 3+3= 345= 643 =
3+1= 8+3 = 347 = 8+3 =
643 = 3+5= 1+3= 3+4=
3+3= 943 = 3+2= T+3 =
3+6= 3+3= 3+9= 3+8=
3+5= 3+1= 3+2= 3+4=
34+7= 34+7= 5+3= 643 =
3+1= 3+9= 8+3 = 243 =
443 = 34+3= 243 = 3+3=
3+5= 4+3= 34+6= 143 =
34+7= 3+9= 8+3= 3+9=
3+4= 3+7= 34+5= 3+8=
3+6= 34+1= 3+3= 3+2=
8+3 = 3+4= 243 = T+3 =
3+1= 6+3= 3+3= 9+3 =
3+5= T4+3 = 8+3 = 3+6=
543 = 1+3= 243 = 443 =
943 = 3+3= 3+4= 3+6=
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Addition Facts (B) Answers

3+1=4
94+3=12
T+3=10
54+3=8
1+3=4
34+9=12
54+3=38
34+9=12
3+1=4
6+3=9
3+3=06
3+6=9
3+5=8
34+7=10
3+1=4
44+3=7
3+5=8
34+7=10
3+4=7
3+6=9
8+3=11
3+1=4
3+5=8
54+3=8
94+3=12

3+6=9
443-7
3+9-12
3+3=6
3+3-6
14+3=4
6+3=9
3+3=6
8+3=11
3+5-8
9+3=12
3+3=6
3+1-4
3+7-10
3+9-12
3+3=6
443-7
3+9-12
3+7-10
3+1-4
34+4-7
6+3=9
7+3=10
14+3=4
3+3=6

Find each sum.

342-5
3+3=6
8§+3=11
3+4+6=9
34+7=10
8§+3=11
443-7
3+4+5-8
34+7=10
14+3=4
342-5
34+9-12
342-5
5+3=8
8+3=11
2+4+3=5
3+6=9
§+3=11
3+5-8
3+3=6
2+4+3-5
3+3-6
8+3=11
2+43=5
344-7

8+3-11
5+3-8
3+2-5
443-7
344-7
24+3=5
2+4+3=5
6-+3=9
8+3-11
344-7
7+3=10
34+8=11
344-7
6+3=9
2+4+3=5
3+3-6
14+3=4
34+9-12
34+8-11
34+2-5
7+3=10
94+3-12
34+6=9
443-7
34+6=9

Math-Drills.com




Addition Facts (C)

Find each sum.

543 = 243 = T+3 = 3+3=
3+8= 9+3 = 3+1= 3+2=
3+6= 54+43= 4+3 = 943 =
1+3= 3+7= 3+3= 8+3 =
4+3 = 34+8= T4+3 = 3+3=
34+6= 1+3= 2+3= 3+9=
34+5= 343 = 3+7= 443 =
2+3= 3+6= 3+8= 3+1=
34+5= 3+9= 3+1= 243 =
8+3 = 3+3= 4+3 = 3+7=
3+6= 94+3= 34+5= 34+9=
3+1= T+3 = 3+3= 543 =
4+3 = 843 = 3+6= 243 =
3+2= 94+3= 8+3 = 3+4=
3+4+7= 343 = 6+3= 54+3=
1+3= 3+7= 34+6= 3+3=
3+1= 543= 3+8= 443 =
2+3= 3+9= 345= 9+3 =
34+2= 643 = 1+3= T+3=
3+4= 8+3 = 3+3= 3+1=
243 = 343 = 3+5= 3+8=
34+7= 94+3 = 3+4= 643 =
3+3= 943 = 3+1= 342 =
T4+3 = 34+6= 4+3 = 8+3 =
54+43= 3+9= 343 = T+3 =
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Addition Facts (C) Answers

5+3=8
3+8=11
3+6=9
1+3=4
4+43=7
3+6=9
3+5=8
2+3=5
3+5=8
8+3=11
3+6=9
3+1=4
4+43=7
34+2=5
34+7=10
1+3=4
34+1=4
2+3=5
34+2=5
3+4=7
2+3=5
34+7=10
34+3=6
7+3=10
5+43=8

2+3=5
9+3=12
5+3-8
3+7=10
3+8=11
14+3=4
3+3-6
3+6=9
3+9-12
3+3=6
9+3=12
7+3=10
8+3-11
9+3=12
3+3-6
3+7=10
5+3-8
3+9-12
6+3=9
§+3=11
3+3=6
9+3=12
9+3-12
3+6=9
3+9-12

Find each sum.

7+3=10
34+1-=4
4+43=7
34+3=6
7+3=10
2+3=5
34+7=10
34+8=11
34+1=4
4+43=7
34+5=8
34+3=6
34+6=9
8+3=11
6+3=9
34+6=9
34+8=11
34+5-=8
1+3=4
34+3=6
34+5=8
34+4=7
34+1-=4
4+43=7
34+3=6

3+3=6
3+2-5
9+3=12
8+3=11
3+3=6
3+9-12
4+43=7
3+1=4
2+43=5
3+7=10
3+9-12
5+3-8
2+43=5
3+4-7
5+3-8
3+3-6
4+43=7
9+3=12
7+3=10
3+1=4
3+8=11
6+3=9
3+2-5
8+3=11
7+3=10
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Addition Facts (D)

Find each sum.

34+8= 1+3= 4+3= 342 =
6+3= 3+5= 3+8= 2+3=
3+4= 34+1= 6+3= 3+5=
3+3= 3+9= 3+7= 9+3=
3+3= 5+3= 443 = 6+3=
34+1= 243 = 34+7 = 348 =
8+3 = 5+3= 3+3= 342 =
347 = 3+4 = 9+3= 6+3=
1+3= 243 = 349= 6+3=
34+3= 34+8= 543= 347 =
3+4= 34+1= 743 = 6+3=
34+8= 34+3= 342 = 543=
3+1= 443= 3+9= 34+9=
34+4 = 543= 8+3 = 343 =
3+1= 2+3= 7+3= 6+3=
3+5= 3+9= 1+3= 34+8=
3+3= 6+3= 743 = 2+3=
344= 543 = 243 = 344=
6+3= 9+3= 8+3 = 1+3=
3+3= 3+7 = 3+9= 34+8=
3+4= 7+3= 1+3= 34+3=
2+3= 5+3= 6+3= 7+3=
3+3= 1+3= 3+9= 6+3=
443 = 243 = 543= 34+8=
342 = 3+5= 3+6= 34+1=
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Addition Facts (D) Answers

34+8=11
6+3=9
34+4=7
343=6
34+3=6
34+1=4
8+3=11
34+7=10
1+3=4
343=6
34+4=7
34+8=11
34+1=4
34+4=7
34+1=4
34+5-=8
34+3=6
34+4=7
6+3=9
343=6
34+4=7
24+3=5
34+3=6
4+43=7
342=5

1+3=4
34+5=8
341=4
349=12
543=8
24+3=5
543=8
34+4=7
243=5
34+8=11
341=4
34+3=6
443=7
5+3=8
243=5
349=12
64+3=9
5+3=8
94+3=12
34+7=10
7+3=10
5+3=8
1+3=4
24+3=5
34+5=8

Find each sum.

4+43=7
3+8=-11
6+3=9
34+7=10
44+3=7
34+7=10
34+3=6
9+3=12
34+9=12
5+3=8
7+3=10
34+2-5
34+9=12
8+3=11
7+3=10
14+3=4
7+3=10
2+43=5
8+3=11
34+9=12
1+3=4
6+3=9
34+9-12
5+3=8
3+4+6=9

34+2-5
2+43-5
3+5-8
9+3=12
6+3=9
3+8=11
34+2-5
6+3=9
6+3=9
3+7-10
6+3=9
5+3-8
34+9-12
3+3-6
6+3=9
3+8=11
2+43-5
3+4-7
14+3=4
3+8=11
3+3=6
7+3=10
6+3=9
3+8-11
34+1-=4
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Addition Facts (E)

Find each sum.

443 = 34+3= 3+7= 8+3 =
9+3= 5+3= 3+3= 3+1=
9+3= 3+2= §+3 = 6+3=
3+7 = 4+43= 346= 14+3=
24+3= T+3= 3+4= 343 =
5+43= 8+3 = 9+3= 3+5=
3+3= T+3= 4+43= 14+3=
8§43 = 6+3= 34+2= 3+9=
5+43= 3+1= §+3= 6+3=
34+3= T+3= 443 = 3+2=
3+9= 3+7 = 34+5= 3+2=
3+1= 3+8= 6+3= 3+9=
4+43= 3+3= 343 = 14+3=
§+3 = 5+3= 9+3= 344 =
3+6= 2+3= 743 = 743 =
3+5= 3+4= 3+3= 3+1=
3+9= §+3 = 342 = 6+3 =
34+6= 24+3= 9+3= 543=
14+3= 4+43= 34+3= 3+8=
7T+3= 6+3= 34+8= 3+7=
4+43= 3+3= 14+3= 5+43=
3+9= 2+3= 34+2= 3+3=
344 = 8+3 = 347 = 3+6=
345= 143 = 349 = 34+49=
341 = 3+3= 344 = 3+5=
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Addition Facts (E) Answers

4+43=7
9+3-12
9+3=12
3+7=10
2+3=5
5+3=8
3+3=6
8+3-11
5+3=8
34+3=6
3+9-12
3+1=4
4+43=7
8+3=11
3+6=9
34+5=8
3+9-12
34+6=9
1+3=4
7+3=10
4+43=7
3+9=12
34+4=7
34+5=8
34+1=4

34+3=6
5+3=8
342=5
4+43=7
7+3=10
8+3=11
7+3=10
6+3=9
34+1=4
7+3=10
347=10
34+8=11
34+3=6
5+3=8
243=5
34+4=7
8+3=11
24+3-=5
4+43=7
6+3=9
343=6
24+3=5
84+3=11
1+3=4
343=6

Find each sum.

34+7-10
3+3-6
8+3=11
3+6=9
3+4-7
94+3-12
443-7
3+2-5
8+3=11
443-7
34+5-8
6+3=9
3+3-6
94+3-12
7+3-10
3+3-6
3+2-5
94+3-12
3+3=6
34811
14+3=4
34+2-5
34+7-10
34+9-12
34+4-7

8+3=11
34+1-4
6-+3=9
14+3=4
3+3-6
3+5-8
14+3=4
34+9-12
6-+3=9
34+2-5
34+2-5
34+9-12
14+3=4
3+4-7
7+3-10
34+1-4
6-+3=9
5+3-8
34+8-11
34+7-10
5+3-=8
3+3-6
34+6=9
34+9-12
3+5=8
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Addition Facts (F)

Find each sum.

8+3= 243= T4+3= 6+3=
743 = 3+8= 343 = 1+3=
34+4= 346= 34+9= 5+3=
342 = 347 = 3+1= 343 =
443 = 94+3= 3+6= 34+8=
345 = 243 = 347 = 346=
243 = 349 = 34+8= 34+5=
1+3= 343 = 4+3= 344=
349 = 343 = 7+3= 342 =
341= 6+3= 34+5= 348 =
4+3= 342 = 347 = 6+3 =
341= 345= 343 = 9+3=
843 = 347 = 1+3= 344 =
34+3= 243 = 3+49= 543 =
843 = 346= 348 = 344 =
6+3 = 243 = 3+9= 1+3=
343 = 347 = 345 = 9+3 =
243 = 1+3= 347 = 443 =
343 = 348 = 34+6= 345 =
5+3= 343 = 3+9= 2+3=
6+3= 7+3= 341= 443 =
843 = 843 = 34+6= 343 =
347 = 349 = 4+43= 5+3=
342 = 34+1= 347 = 2+3=
3+3= 14+3= 443 = 943 =
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Addition Facts (F) Answers

8+3=11
7+3=10
34+4=7
34+2-=5
4+43=7
34+5=8
2+3=5
1+3=4
34+9=12
3+1=4
4+43=7
3+1=4
8+3=11
34+3=6
8+3=11
6+3=9
34+3=6
2+3=5
34+3=6
5+3=8
6+3=9
8+3=11
34+7=10
34+2=5
34+3=6

243=5
34+8=11
34+6=9
34+7=10
94+3=12
2+3-=5
349=12
34+3=6
34+3=6
6+3=9
342=5
34+5=8
347=10
24+3-=5
34+6=9
2+3-=5
347=10
1+3=4
34+8=11
34+3=6
7+3=10
8+3=11
349=12
3+1=4
1+3=4

Find each sum.

7+3-10
3+3-6
34+9-12
34+1=4
34+6=9
34+7=10
34811
443=7
7+3-10
34+5-8
34+7-10
3+3-6
14+3=4
34+9-12
34811
34+9-12
34+5-8
34+7=10
34+6=9
34+9-12
34+1=4
34+6=9
443=7
34+7=10
443=7

6+3=9
14+3=4
5+3-=8
3+3-6
34+8-11
3+6=9
3+5-38
3+4-7
34+2-5
34811
6+3=9
9+3-12
3+4-7
5+3-8
34+4-7
14+3=4
94+3-12
443-7
3+5-8
2+43-5
443-7
3+3=6
5+3-=38
2+43-5
9+3-12
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Addition Facts (G)

Find each sum.

6+3= 3+8= 5+3= 3+7=
443 = 3+8= 34+5= 349=
6+3= 14+3= 3+3= 243 =
743 = 34+1= 3+3= 6+3 =
34+5= 8+3= 943 = 342 =
344 = 8+3= 3+3= 34+7=
34+6= 5+3= 34+1= 342 =
943 = 443 = 342 = 344 =
3+3= 8+3= 34+7= 3+1=
349= 6+3= 5+43= 3+7=
543 = 243 = 443 = 943 =
14+3= 3+8= 3+3= 6+3=
243 = 443 = 34+6= 543 =
343 = 3+8= 943 = 34+7=
143 = 3+6= 7+3= 34+3=
342 = 8+3= 943 = 443 =
143 = 5+3= 344= 8+3 =
349= 6+3= 5+43= 3+7=
34+1= 343 = 342= 8+3 =
3+3= 34+6= 443 = 342 =
34+9= 14+3= 743 = 543=
34+8= 743 = 34+9= 343 =
34+1= 543 = 342= 34+4=
34+6= 3+3= 443 = 943 =
347 = 34+6= 341= 543=
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Addition Facts (G) Answers

6+3=9
443-7
6-+3=9
7+3=10
34+5-8
344-7
3+6=9
9+3-12
3+3-6
34+9-12
5+3-38
143=4
2+4+3-5
3+3-6
14+3=4
3+2-5
14+3=4
34+9-12
3+1=4
3+3-6
34+9-12
34+8-11
3+1=4
34+6=9
3+7-10

3+8-11
3+8=11
143=4
3+1=4
8+3=11
8+3=11
5+3-38
443=7
8+3=11
6+3=9
2+4+3-5
34+8=11
443=7
3+8=11
3+6=9
8+3=11
5+3-38
6+3=9
3+3-6
34+6=9
143=4
7+3=10
5+3-8
3+3-6
3+6=9

Find each sum.

5+3-=8
3+4+5-8
3+3-6
3+3=6
9+3-12
3+3=6
3+1-4
342-5
34+7-10
5+3=8
4+43-7
3+3=6
3+6=9
9+3-12
7+3=10
9+3-12
344-7
5+3=8
342-5
443-7
7+3=10
34+9-12
342-5
443-7
3+1-4

34+7=10
34+9-12
2+4+3-5
6+3=9
34+2-5
34+7=10
34+2-5
3+4-7
3+1-=4
34+7=10
9+4+3-12
6+3=9
5+3-=38
34+7=10
3+3=6
443-7
8+3=11
34+7=10
8+3=11
34+2-5
5+3-=8
3+3-6
3+4-7
94+3=12
5+4+3-=8
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Addition Facts (H)

Find each sum.

24+3= 8+3 = 543 = 8+3=
347 = 3+6= 943 = 3+2=
3+1= 4+3= 34+3= T+3 =
143 = 3+8= 34+5= 3+4=
3+9= 3+3= 34+6= 3+2=
3+3= 3+9= 643 = 3+1=
8+3= 3+7= 3+2= 3+4=
543= 1+3= T+3 = 3+5=
3+3= 3+8= 34+6= 34+9=
3+2= 3+4= 3+2= 8+3 =
3+1= 3+9= 643 = 3+5=
443 = 3+3= 3+7= 9+3 =
3+3= 4+3= 34+6= 3+7=
543 = 2+3= 3+1= 8+3 =
443 = 3+1= 347 = 3+8=
543 = 3+3= 3+6= 3+9=
34+2= 3+3= 34+5= 94+3=
8+3= 4+3= 3+2= 3+1=
34+6= 3+7= 3+2= 3+1=
3+9= 3+4= 6+3= 3+5=
3+3= 8+3 = T+3 = 54+3=
T+3 = 4+3= 3+2= 3+3=
3+9= 1+3= 8+3 = 6+3=
9+3 = 543= 4+3= T+3 =
34+6= 3+8= 3+2= 3+1=
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Addition Facts (H) Answers

2+4+3-5
34+7=10
3+1-=4
14+3=4
34+9-12
3+3=6
§+3=11
5+3-8
3+3-6
34+2-5
3+1-=4
443-7
3+3=6
5+3-8
443-7
5+3-8
3+4+2-5
§+3=11
3+6=9
34+9-12
3+3=6
7+3=10
34+9-12
9+3=12
3+6=9

8+3=11
3+6=9
443=7
3+8=11
3+3=6
3+9-12
3+7=10
14+3=4
3+8=11
3+4=7
3+9=12
3+3=6
443=7
2+43=5
3+1=4
3+3=6
3+3=6
443-7
3+7=10
3+4=7
8+3=11
443-7
1+3=4
5+3=8
3+8=11

Find each sum.

5+3-8
94+3-12
3+3-6
34+5-8
34+6=9
6+3=9
34+2-5
74+3=10
34+6=9
34+2-5
6+3=9
34+7-10
34+6=9
34+1=4
34+7-10
34+6=9
34+5-8
34+2-5
34+2-5
6+3=9
74+3=10
34+2-5
8+3-11
443=7
34+2-5

§+3=11
34+2-5
7+3=10
344-=7
3+2-5
3+1-4
344-7
3+5-8
34+9-12
§+3=11
3+5-8
94+3=12
34+7=10
§+3=11
34+8=11
34+9-12
94+3-12
3+1-4
3+1-4
3+5-8
5+3-=38
3+3=6
6+3=9
7+3=10
3+1-4
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Addition Facts (I)

Find each sum.

34+3= 3+9= 54+43= 3+8=
243 = T4+3 = 3+6= 143 =
34+3= 3+4= 54+43= 3+3=
8+3 = T4+3 = 3+4= 243 =
3+6= 3+1= 3+9= 3+3=
643 = 943 = T+3 = 443 =
34+2= 843 = 3+5= 3+ 1=
643 = T4+3 = 3+5= 443 =
94+3= 34+8= 3+2= 3+ 1=
3+3= 3+2= 3+3= 3+1=
8+3 = T+3 = 643 = 54+3=
3+9= 3+4= T+3 = 543=
1+3= 6+3= 243 = 3+3=
3+8= 94+3 = 3+4= 3+1=
8+3= 34+2= 3+4 = 347 =
34+6= 3+3= 9+3 = 3+5=
243 = 34+5= 1+3= 347 =
3+8= 3+9= 4+3 = 3+6=
3+3= 34+5= 1+3= 34+6=
3+2= 34+9= T+3 = 3+3=
3+8= 4+3 = 34+3= 643 =
3+9= 843 = 3+1= 3+2=
3+4+7= 34+4= 543= 347 =
34+8= 34+3= 345= 9+3 =
3+1= 243 = 3+4 = 34+6=
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Addition Facts (I) Answers

3+3=06
243=5
3+3=06
8+3=11
3+6=9
6+3=9
3+2=5
6+3=9
94+3=12
34+3=06
8+3=11
34+9=12
1+3=4
34+8=11
8+3=11
3+6=9
2+3=5
3+8=11
3+3=06
34+2=5
34+8=11
34+9=12
34+7=10
34+8=11
3+1=4

34+9-12
7+3=10
34+4-7
74+3=10
3+1-4
9+3=12
8+3=11
74+3=10
3+8=11
3+2-5
7+3=10
34+4-=7
6+3=9
9+3=12
3+2-5
3+3=6
3+5-38
34+9-12
3+5-38
34+9-12
443-7
8+3=11
34+4-=7
3+3=6
2+3-5

Find each sum.

5+3-8
34+6=9
5+3-=8
3+4-7
34+9-12
7+3-10
3+5=8
34+5=8
34+2-5
34+3=6
6+3=9
7+3-10
2+3-=5
3+4-7
3+4-7
94+3-12
14+3=4
443=7
14+3=4
7+3-10
3+3=6
34+1=4
5+3-=8
3+5=8
3+4-7

34+8=11
1+3=4
3+3=6
2+3=5
3+3=6
4+43=7
34+1=4
4+43=7
3+1=4
3+1=4
5+3=8
5+3=8
3+3=6
3+1=4
34+7=10
3+5=8
34+7=10
3+6=9
34+6=9
3+3=6
6+3=9
3+2=5
34+7=10
9+3=12
34+6=9
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Addition Facts (J)

Find each sum.

8+3= 3+3= 6+3= 34+9=
143 = 4+3= 347 = 243 =
543 = 3+6= 543 = 943 =
3+3= 1+3= 3+2= T+3 =
8+3= 3+4= 34+3= 643 =
T+3 = 9+3 = 543 = 1+3=
3+8= 4+3= 24+3= 34+6=
3+3= 1+3= 443 = 543 =
3+9= 8+3 = 7T4+3 = 3+2=
3+9= 3+8= 4+3 = 3+5=
3+6= 34+2= 3+1= 3+3=
3+7= T+3 = 34+5= 9+3 =
3+3= 3+4= 34+8= 643 =
3+2= 1+3= 3+8= 3+5=
T+3 = 643 = 34+3= 3+1=
3+2= 4+3 = 3+9= 1+3=
342 = 3+4= 34+3= 3+5=
9+3 = 8+3 = 34+6= T+3 =
8+3 = 643 = 3+3= 243 =
3+4= 1+3= 34+5= T+3 =
943 = 3+4= 349 = 3+8=
2+3= 3+3= 3+1= T+3 =
54+3= 6+3= 243 = 8+3 =
3+4= 3+3= 3+6= 9+3 =
3+7= 543 = 3+1= 54+43=
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Addition Facts (J) Answers

8+3=11
14+3=4
54+3=8
34+3=06
8+3=11
74+3=10
34+8=11
34+3=06
34+9=12
34+9=12
3+6=9
34+7=10
3+3=6
34+2=5
74+3=10
34+2=5
34+2=5
94+3=12
8+3=11
34+4=7
94+3=12
243=5
54+3=8
34+4=7
34+7=10

3+3=6
4+43=7
3+6=9
1+3=4
3+4=7
9+3=12
4+43=7
1+3=4
8+3=11
3+8=11
34+2=5
7+3=10
3+4=7
1+3=4
6+3=9
4+43=7
3+4=7
8+3=11
6+3=9
1+3=4
3+4=7
34+3=6
6+3=9
34+3=6
5+3=8

Find each sum.

6+3=9
3+7=10
5+3=8
3+2=5
3+3=6
5+3=8
2+3=5
4+43=7
7+3=10
4+43=7
3+1=4
34+5-=8
3+8=11
3+8=11
3+3=6
3+9=12
3+3=6
34+6=9
3+3=6
345=8
3+9=12
3+1=4
2+3=5
34+6=9
3+1=4

34+9-12
243=5
94+3-12
74+3=10
6-+3=9
14+3=4
34+6=9
5+3-8
34+2-5
34+5-8
3+3-6
9+3-12
6-+3=9
34+5-8
3+1=4
14+3=-4
34+5-8
74+3=10
2+4+3=5
7+3-10
34+8-11
74+3=10
8+3-11
9+3-12
5+3-8
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